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Ing. Marian Suran
Datum : Bratislava, 25.5.2016

Autorizac¢ne overil :
Format : 400x1150
Mierka : 1:100
Sar.systém :

VySkovy systém : Bpv
Cislo vykresu :

Zameral : GEOS - g.k., s.r.0.
Okres : Bratislava - Ra¢a
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Vyhotovil : Peter Kokles
Kraj : Bratislavsky
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STATICKY POSUDOK PLICKOVA - ZAMERANIE OBJEKTU

Odberatel : Generalny investor Bratislavy, ZaporoZska 5, 852 92, Bratislava 5

Radlinského 28, 811 07 Bratislava
TEL : 0905182574, email : geosgk@gmail.com

ICO : 35943246
Druh prac : pozdizny rez

GEOS - g.k,, s.r.o.

Stavba :
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